
Dote: ___ _ 

; 1. Wrlte F - - ' - 1,~<::irnal in expanded form. 

r 3.73 __ ·-·---·-·· .. --------------- i 

i 2.89 ----------------- ii 

s 0.754 ---
•;. 

1 2. Solve. Sho\/\/ your work. 
<~~ 18° 0.L..__, . 1 2.75 

- 1.86 -1.98 + 4.62 

~ 3. Solve. Shov1/ your vvorl, on the bock or on another piece of 
'I popei-: 
;t 265 --;- C ,_·, .c 310 7 20= 

1 3/6 + 2 1/6= 

'. 8 3/ 4 - 4 1/8= 

I 2 .. I " . 0ove: 
t 3 X 1/2 = 
t 

----

! 5 X 1/5= - .. - __ .... -...... -------

5 1/8 + 2/4= ----

10 4/5 - 6 1110= ----

4x3/4= ___ _ 

. 6 X 1/8= ----

t: 3. Without solving, circle the problem that have a greater 
~ product. Tell how you know 

·;· 

:;_: 

p } 12 x 16 or 1? x 17 15 x 2 or 15 x 1/2 
] 
u: 
~ 

i 
'!c'' 


